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Q) Letf: (—5 Ej (~1,1)be the function defined by f'(x)= /1 {f(x)}’.

If £(0)="0,then [e" £ (x)dx+[

¢ dx =
V1—x?
(@)e*sinx+C (b)e*sin”' x+C
(c)e*cosx+C (d)e*cos™ x+C

Solution: option (b)

Concept used:
1) Method of substitution in integration process

dx
gl

3 J.\" 3) Integration process by parts

=sin' x+C

£l )— {f( g
S

= sin~ f( )=x+C
f(0)=0 = Cc=0
=sin” f(x)=x
:>f(x)=sinx

= f7(x)=sin" x

dx

Ief dx+I\/_dx—j sin”~ xdx+j\/:‘7

Integrating by parts

jexf‘(x)azﬁj\/le_x7 l:sm xk* e ( de:|+j\/_dx+C

=e'sin'x+C
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